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1. curses
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2. terminfo
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#include <curses.h>

main()

{

initscr();

/* main body */

endwin();

exit(0);
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#include <curses.h>

main()

{

initscr();

refresh();

endwin();

}

refresh £= O LBHEOI HEMOI wrefresh & =& AI2{0t2F &
screen) Off LIEFLIAH EICF refresh = E=S =2 stdscr 2 U
= S8 AL Wss ANMSFHN ZEAISHC
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echo(); /* enable echoing */
noecho(); /* disable echoing */
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c2 |9 Btef(echo) JIsS ASAIIINHU EX AMZE = UL CEE(default)2= BHe JIs S
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nl(); /= enable CR—NL mappings */



monl(); /* disable mappings */

nl 2 =& Al &2 X (newline) It newline/ carriage—-return 22 HIR A ST O{LE, LAl
newline/carriage—return 0l JHHEXZ BIHUHA L =ICH default = nl O|C}.

cbreak(); /* enable CBREAK mode */
nocbreak(); /* disable CBREAK mode */

= LHAI, OJEi?:,*E(interrupt) ?t S8 MO 3l(flow control key) & HM2dtD= L XZ0
= JIGHRl =0 raw(); /* enable RAW mode */ noraw(); /* disable RAW mode */
1€ RAW DCE OL=CH 0l 2E= CBREAK 2=2F Hl=3dlC}.

savetty(); /* save tty state */
resetty(); /* reset tty state */

AEHE curses 2

CHA|o MEHE N FHU S2AZ 4= QUL savetty = S S| A
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HEHHW MEH =Ch. restty = Ht2 &0l savetty & N
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curses = L stdscr 0l 22X SAES M= 4 HQ REIS MSEHLL
addch, mvaddch, addstr, mvaddstr O|C}.

#include <curses.h>
intc,y, x;
char *string;

addch(c);
mvaddch(y, x, ¢);
addstr(string);
mvaddstr(y, x, string);

addch REI2 stdscr &9 &M HA KAXI0 2K ¢ E 2L refresh & ol =002 A Xl 3HHOl
LIEFHCH CTRL-C = "C ME MOIL}.

mvaddch 2EI2 HAE HEZ2 y HM =, JIZ2 x HH €2 S&Q F0 2XE &CH W =
21Z0| ZHE(0,0)0ICH.

addstr o mvaddstr 2 0 22 ZlLl= X2 string 2 %R stdscr 0l 2CF.
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curses Ol= C A2l printf & HI=& JIs2 MBote FES0| ULH. EE AT stdscr 0
MOl REISZ= printw 2 mvprintw JF UCH

#include <curses.h>
char *fmt;
inty, x; /* NB arg0, argl ... argn have arbitrary type */

printw(fmt, arg0, argl, ... argn);



mvprintw(y, x, fmt, arg0, argl, ... argn);
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move BHS AIE0I0 HE&= 52 stdscr 9 M HHE S £ UL

#include <curses.h>

inty, x;
move(y, X);
OHOHE = y 2 x ANZ5IH MZ2 E0 HAHME AXAMZ 2= QL refresh I =T OFSF

M HA RIXIOt HH&'EP
getyx FEIS AISotH HAS &M AXNE &=+ UL

#include <curses.h>

inty, x;

WINDOW *w;

getyx = WINDO O CHst EQIEHIF HEHM H= FZOAHOE &0 HEW Haxz HE SHHOI
stdscr 2 AI20olH EZE A S HA /AXE S £ UCH =& 2=y 9F x HE: 0
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curses OlA 2IBEZ 2H stUS SXE 20t =2 A 220 getch & AFE8HCE. getch C A9

getc FTEXHE =32 S ECH

#include <curses.h>
int in_ch;

%E % ollototE Y2 curses keypad FEIS =HAIHAA S2IO IIIH= (keypad)S

keypad(stdscr, TRUE);

E=Jl= curses.h Ol B2& g2 Soll SAECt ASCIH gttel S 2| ol 0l gt==2 8 &
401 286 AIE=CLC

int in_ch;

in_ch = getch();
switch(in_ch)
{
case KEY_DOWN; /* down arrow key processing */



case KEY_UP: /* up arrow key processing */

}

10.9. 3™ = :inch

stdscr 2 EF X0 o 2Kt U= K 20toF € HLRIF QUL inch = atHe S HA
KXo UAs EXNE =0 02l mvinch = FHE {AXIS SXE Se=0

#include <curses.h>
int in_ch;

in_ch = inch();
in_ch = mvinch(y, x);
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cvalue = ivalue & A_CHARTEXT;
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#include <curses.h>

erase();

clear();

clrtobot();

clrtoeol();
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#include <curses.h>

inty, x;

delch();



mvdelch(y, x);
deleteln();

delch 2 22 &M HA <IXI0l Y= 2Kt XNKHACH Del 1 S8Hs iR fich AML
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#include <curses.h>

intc,y, x;

insch(c);

mvinsch(y, x, c);

insertin();

insch = &M X0 22X ¢ € N2CH M HAM /XS LEZN JUs 2XN=2 25 & 244
QEZOZ (O|sstCt. O =9 0N U= S2Xes LoH2IH =0 mvinsch = HAML fAXS
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curses Ol S8 252 ZAE W LIEF WD 42 1] 220 oiYdle &2 HE &<
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addch(ch|A_BOLD);
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A_STANDOUT 0 2= é‘ E AS2E=Z LIEFRIH MOICH,
A_REVERSE 98 Z2E A BOLD 2AUS0l ESEZ2 LIEFHCH
A_DIM =2XS0l JI22E20 &2 OisAH LIEHECH
A_UNDERLINE =A+ 20 2=01 OH& HEHZ LHEHHCH
A_BLINK 2Xt=01 BRI,

#include <curses.h>
int atts;

attrset(atts);
attron(atts);
attroff(atts);

standout();

standend();

attrset 2 EZE SIHAMWAN ZEE HSAIZM AIEct= FE0IC

attron SEI2 atts 0l FTHE DE=Z2 HSAI2ICH 0 FE=2 20MH XNEE BEE HIR XK=
2 =CH O0F&IERIZ attroff = SMB8E DEZE ol XMISHCY.
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#include <curses.h>
WINDOW *win;
int lines, cols, startline, startcol;

win = newwin(lines, cols, startline, startcol);

0f |EIS =&HAIZIH A2 AJIDt lines, Jt2 AJIJt cols ¢ =R M2ICH
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wmove(win, vy, x);
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wrefresh(win);
2 3AE2 win 0l A= WSSO0l &M SHHO LIEFSCE.

10.13. curses 0l : domenu

R /\OHQ‘I:

10.14. SIEAN & =2l =F : terminfo
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#include <curses.h>
#include <term.h>
main()
{
setupterm(0, 1, 0);
putp(clear_screen);
reset_shell_mode();
exit(0);
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reset_shell_mode = =& D]



